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2018

GEOGRAPHY
( General )

( Physical Geography )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x7=7
wore R erpre e i -
() What is Loo?
o 2
(b) What is parent rock?
¥ Preme 2

() Which gas is present in highest amount
in the atmosphere?

TNGTS (PCHT (o163 “AfRT FRICDCE Q&2
(d) What is tropopause?
Borrem 32
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(2)

(e) What is barograph?
e o

(/) What are doldrums?
RicRIRCREECHET T

(g) What is the' meaning of hibernation?

e e & w2

2. Answer the following questions very briefly :
. 2x4=8
SeTo Tl SRR oS Sixewest Teq fian

(a) What is hydrological cycle?
oo & 7

(b) Distinguish between high-pressure belt
and low-pressure belt.
TH-O W WE -5 enE qEe o
o |

(c) What is soil texture?
T3 s 2

(d) What are the major factors influencing
plant growth? : ‘
TR IO HOW (TR ot TR B R 2
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3. Write short notes on any three of the

following :

5x3=15

were o1 R e feforR oY Bt o

(a) Homosphere and Heterosphere

TSN S SPHBNNGT

(b) Isohyet

line and Isobar line

SRR @R S O {0

(c) Forest ecosystem and Desert ecosystem
w1 “RER g % TR RS o3

(d) Alluvial soil and Black soil
Pl M S 7 Ao

(e) Charaéteristics of biosphere

e Rﬁﬁl"

4. Whatis étmosphere? Explain the composition
and vertical structure of the atmosphere with

' 4+6=10
diagram.
e &7 Teed S S TEiRe e R
e ST T FA
Or/J%1
What is monsoon wind? Discuss its origin and
| ' ' 10
impact. ,
g ©z B TR Bl 9F ger
S 90 1
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6.

(4)

Define biogeography. Describe its scope.
4+6=10

@ﬂmﬂwﬁmlmﬂﬁmvﬁﬁw
01

Or/9%{1

What are the major biomes of the world?
Explain the characteristics of the major
biomes. 10

R T WA R R0 =1=u IR IR
CAMBPTTR 0 0

Define soil. Discuss the nature and scope of
soil geography. 4+6=10
Jfeer i fa | qﬁm TeIER oS = o™

FFCE Al B9 |
Or/S<T1

Differentiate between weather and climate.
Describe different elements of .climate. 10

T A FERRT TS AL cv{emnwﬁﬁ
TomPTR 3971 9 1
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